
30.04.2013

Umlaufvermögen 0 -              Fremdkapital 0 -                

liquide Mittel 0 -              0 2000 Kreditoren CHF 286,00          

0 1000 Kasse -              0 2100 Transitorische Passiven 795,00          

0 1010 Postkonto 4.093,10      4.093,10       0 2200 Rückstellungen 1.000,00       2.081,00        

0 0 -              0 0 -                

0 0 -              0 0 -                

0 0 -              0 0 -                

Forderungen 0 -              Eigenkapital 0 -                

0 1100 Debitoren allgemein 600,00         600,00          0 0 -                

0 0 -              0 0 -                

0 1300 Transitorische Aktiven -              -                0 2990 Gewinnvortrag / Verlustvortrag1.987,65       1.987,65        

Vereinsmaterial 0 -              0 -                

0 1400 Material -              -                0 -                

0 0 -              0 -                

Mobiliar 0 -              0 -                

0 0 -              0 -                

0 0 -              0 -                

0 Gewinn -              0 Gewinn 624,45          624,45           

0 Total c 4.693,10       0 Total c 4.693,10        
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